
Revised: 06-NOV-06 Document: 800-0266-1106 Page 1 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

PRODUCT INFO

MQL1040
1040 Qwik-Lok
Product Information



Revised: 06-NOV-06 Document: 800-0266-1106 Page 2 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

  For QwikChange Jaw accessories, see pages 2-3

 * Included in a standard 1040 Qwik-Lok

SPARE PARTS

MQL1040
Foundation

Bottom of Base

T-Slotted Table

Swivel Handle
MSWH10

Handle Sealplate 
Mounting Screws: M8x16
SHCS-M08-016-012

Slide Assembly (Aluminum)
MSAS1040
(See breakdown page 4)

QwikChange Dual Station 
Jaw Set
MJQ1040-100.40

MOUNTINGT-Wrench: 6mm
MTWR10

Pin Extractor
PE-15

Locating Keys

Inch Size

MKE500 (1/2”)

MKE562 (9/16”)

 MKE625 (5/8”)

MKE688 (11/16”)

 MKE750 (3/4”)

MKE812 (13/16”)

Metric Size

MKE10 (10mm)

MKE12 (12mm)

 MKE14X18 (14mm)

 MKE16 (16mm)

MKE20 (20mm)

*

*

*

*

Handle Sealplate Plug
HDSP-MAL-RD1-001

Locating Bushing:
12mmx18mmx12mm
025-0370

*

Handle Sealplate
MHSQL10

Single Station Handle Sealplate
MHSQL10-S

Qwik-Lok Base
MBAS1040

*

Ejector Bushing Insert
MEBA10

Base Mounting Screws: M12x45
SHCS-M12-045-012

*

Standard Coverplate
MCPS10-100.400

*

Round Plugs: 14mm
RNDP-014-RD1-025

Fixed Jaw Mounting 
Screws: M8x40
SHCS-M08-040-012

*

Round Plugs: 16mm
RNDP-016-RD1-025

*

Screwdriver
005-2401

*

Jaw Pin Assembly
MJP10

Jaw Pin Knob (Standard)
MJPK-S

Round Plug: 16mm 
RNDP-016-RD1-025

Jaw Pin Knob (Long)
MJPK-L

Rear Sealplate 
Mounting Screws: M8x16
SHCS-M08-016-012

Rear Sealplate
MRSQL10

Label: CHICK Logo
MLBL-10-003

*

Locating Bushing: 
12mmx18mmx12mm
025-0370

*

Toe Clamps
005-0254

Round Pin
MPIN12R

Diamond Pin
MPIN12D

*
Set
MPIN12S

Bolt and T-Nut
supplied by customer

*

*



Revised: 06-NOV-06 Document: 800-0266-1106 Page 3 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

 Grey item is included with a standard system
* Single Station Machinable Jaw Sets require a Single Station Handle Sealplate. See above, right.

 **Faceplates and Conversion Faceplates require Round and Diamond Pins (MPIN12S). See page 3.

ACCESSORY SETS

MQL1040
Single Station
Machinable
Jaw Sets *

Gripper #3
Plain 005-2531
Serrated 005-2532 
(L-9mm x W-9mm x T-8mm)

Gripper #4
Plain 005-2541
Serrated 005-2542 
(L-12mm x W-12mm x T-4.6mm)

Gripper #5
Plain 005-2551
Serrated 005-2552 
(L-15mm x W-15mm x T-5mm)

Gripper #6
Plain 005-2561
Serrated 005-2562 
(L-19mm x W-19mm x T-6mm)

Machinable 
Faceplates **

Coverplates

Conversion
Faceplates **

Dual Station
Machinable
Jaw Sets

Standard
MJQ1040-100.40

Wide
MJQ1040-150.40

Standard
MJQ10-100.40.120-MS

Wide
MJQ10-150.40.120-MS

Jaw Carrier Set
MJCI1040-10 (Inch)
MJCM1040-10 (Metric)

Standard
MFP1040-100.55

Wide
MFP1040-150.55

High
MFP1040-100.75

Oversized
MFP1040-150.75

Standard
MCPS10-100.400

Horizontal
(8 Systems)
089-1011

Sealplate
MHSQL10-S

Mounting Screws:
M8x16
SHCS-M08-016-012

Single Station
Handle Sealplates

Grippers

Jaw Carrier Set *

High
MJQ1040-100.55

High
MJQ10-100.55.145-MS

Extended Travel
MCPX10-100.400

High Jaw
MCPH10-100.400

Cover Set
025-0319

Vertical
(2 Systems)
089-1091



Revised: 06-NOV-06 Document: 800-0266-1106 Page 4 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

 Grey item is included with a standard system

INDIVIDUAL ACCESSORIES

MQL1040

C

C

QwikChange Machinable
Dual Station Jaws

Individual Single Station Jaws

Standard
A Moveable Jaw .............MJQ10-100.40.120-M
 (W99mm, H40mm, L120mm)
B Fixed Jaw ....................MJQ10-100.40.120-S
 (W99mm, H40mm, L120mm)
Wide
A Moveable Jaw .............MJQ10-150.40.120-M
 (W148mm, H40mm, L120mm)
B Fixed Jaw ....................MJQ10-150.40.120-S
 (W148mm, H40mm, L120mm)
High
A Moveable Jaw .............MJQ10-100.55.145-M
 (W99mm, H55mm, L145mm)
B Fixed Jaw ....................MJQ10-100.55.145-S
 (W99mm, H55mm, L145mm)

QwikChange Machinable
Single Station Jaws

Individual Dual Station Jaws

Standard
A Moveable Jaw .............MJQ10-100.40.120-M
 (W99mm, H40mm, L120mm)
B Fixed Jaw ....................MJQ10-100.40.120-F
 (W99mm, H40mm, L120mm)
Wide
A Moveable Jaw .............MJQ10-150.40.120-M
 (W148mm, H40mm, L120mm)
B Fixed Jaw ....................MJQ10-150.40.120-F
 (W148mm, H40mm, L120mm)
High
A Moveable Jaw .............MJQ10-100.55.145-M
 (W99mm, H55mm, L145mm)
B Fixed Jaw ....................MJQ10-100.55.90-F
 (W99mm, H55mm, L145mm)

Screws and PlugsFaceplate Mounting
Accessories Round Plugs: 16mm

RNDP-016-RD1-025

Fixed Jaw Mounting Screws: M8x40
SHCS-M08-040-012

Jaw Pin Assembly
MJP10

Round Plugs: 16mm
RNDP-016-RD1-025

Round Plugs: 14mm
RNDP-014-RD1-025

Faceplate Locating Bushing:
12mmx22mmx6mm
025-0363

Standard
(Set of 4)
JH4STD (Inch)
MJH10 (Metric)

Thick
(Set of 2)
JH4THK

Both Sizes
JH4STD &
JH4THK

Standard Mounting Screws: 
3/8-16x1/2”
LHCS-375-050-008 (Inch)
LHCS-M08-016-008 (Metric)

Thick Mounting 
Screws: 3/8-16x1”
SHCS-375-100-012

Both Sizes Mounting 
Screws: 3/8-16x1.25”
SHCS-375-125-008

Standard
(Set of 4)
JS4AL

Soft Mounting 
Screws: 3/8-16x1”
SHCS-375-100-012

Jaw Carriers (Inch)

 Set MJCI1040-10
 A MJCI1040-10F
 B MJCI1040-10MS
 C MJCI1040-10ML

QwikChange Jaw Carriers

HARD JAW PLATES

SOFT JAW PLATES

Jaw Plates

*

*

*

*

Jaw Plates sold separately. 
See below for details.

 A Fixed Jaw
 B Short Moveable Jaws (2 pieces)
 C Long Moveable Jaws (2 pieces)

Jaw Carriers (Metric)

 Set MJCM1040-10
 A MJCM1040-10F
 B MJCM1040-10MS
 C MJCM1040-10ML

B

A

 A Round Pin ...... MPIN12R
 B Diamond Pin .. MPIN12D
 A&B Set ................. MPIN12S



Revised: 06-NOV-06 Document: 800-0266-1106 Page 5 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

SLIDE ASSEMBLY

MQL1040

Screw
MSCR1040

Retaining Collar
MRCL10

Slide Nut
MSNT1040

Third Hand Screw
MTHS10

Ball Plunger
004-01-001

U-Cup Seal: Large
021-01-008-24

Collar
MSSC10

2

4

3

5

6

7

8

9

11

10

Retaining Ring
021-01-023-12

U-Cup Seal: Small
021-01-007-24

Complete Slide Assembly
MSAS1040

Slide Rebuild Kit
1-5
MSRK10

Clamping Block
6 & 7
MCLB10

Third Hand Hardware
8-11
MTHH10

Thrust Bearing Kit

Slide
MSLD1040

Wave Spring

Flat Head
Screws Cap Screw

Compression Spring

Sleeve

Clamping Block
MCLB10

Washer



Revised: 06-NOV-06 Document: 800-0266-1106 Page 6 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

Dimensions are in mm (inches)
Dimensions include standard Dual Station Machinable Jaw Sets.

DIMENSIONS

MQL1040

LOCATING HOLES
70 ±0.04

250 ±0.04 (9.8425)

150 (5.91)

Ø 12 X 15 DP
(.47 X .59)

LOCATING HOLES
Ø 12.007 ±0.007 X 15 DP

(.4727 X .59)
4 PLACES

(2.7559)

MOUNTING HOLES
FOR M12 OR 1/2-13
SOCKET-HEAD
CAP SCREWS 

2 PLACES

67

M8 X 12 (.47) DP
4 HOLES

(1.97)

74 (2.91)

400 (15.75)

100 (3.94)
(.28)

7

3 (.12)

(2.64)

(2.76)
70

16 (.63)
13 (.51)

25

99 (3.90)

110

120 (4.72)

40

11
(4.33)

70 (2.76)

10

(.98) (1.57)

20 (.79)120 (4.72)

(.39)

50
(.43)

14 HEX SOCKET X 17 DP
(.55 X .67)



Revised: 06-NOV-06 Document: 800-0266-1106 Page 7 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

Grey area indicates no cut zone
All dimensions are MM [IN]
Dimensions centered on the “A” dimension.

MACHINABLE AREA

MQL1040

A

B

C C

Ø16 (.63)

A

B

C

16 (.63)

C120 (4.72)

51
(2.01)

34.5
(1.36)

60
(2.36)

70*
(2.76)

25.5
(1.0)

51
(2.01)

51
(2.01)

35
(1.38)

35
(1.38)

25.5
(1.0)

Dual Station Single Station

Item Number Description A B C

MJQ10-100.40.120-MS Standard 99 (3.90) 40 (1.57) 120 (4.72)

MJQ10-150.40.120-MS Wide 148 (5.83) 40 (1.57) 120 (4.72)

MJQ10-100.55.145-MS High 99 (3.90) 55 (2.17) 145 (5.71)

Item Number Description A B C

MJQ1040-100.40 Standard 99 (3.90) 40 (1.57) 120 (4.72)

MJQ1040-150.40 Wide 148 (5.83) 40 (1.57) 120 (4.72)

MJQ1040-100.55 High 99 (3.90) 55 (2.17) 145 (5.71)



Revised: 06-NOV-06 Document: 800-0266-1106 Page 8 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

All dimensions are MM [IN]

HOLDING CAPACITY

MQL1040

180 (7.1) 180 (7.1)
380 (15.0)

A A

Requires the use of a 
Single Station Handle Sealplate (MHSQL10-S) and 

Single Station Jaw (MJQ10-100.40.120-MS).

Dual Station Single Station

Item Number Description A Jaw Width

MJQ10-100.40.120-MS Standard 14.5 (.57) 99 (3.90)

MJQ10-150.40.120-MS Wide 14.5 (.57) 148 (5.83)

MJQ10-100.55.145-MS High 29.5 (1.16) 99 (3.90)

Item Number Description A Jaw Width

MJQ1040-100.40 Standard 14.5 (.57) 99 (3.90)

MJQ1040-150.40 Wide 14.5 (.57) 148 (5.83)

MJQ1040-100.55 High 29.5 (1.16) 99 (3.90)



Revised: 06-NOV-06 Document: 800-0266-1106 Page 9 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

All dimensions are MM [IN]
DO NOT CLAMP PARTS AT EXTREME LIMITS OF JAW TRAVEL.  PARTS SHOULD BE CLAMPED AT LEAST 1mm (.04 in) FROM THE LIMITS SHOWN.

JAW TRAVEL

MQL1040

20 (.79)

111 (4.37) TO OPENING

111 (4.37) TO OPENING

107 (4.21)

120 (4.72)

120 (4.72)

228 (8.98)

160 (6.30)

134 (5.28)

96 (3.78) TOTAL SLIDE

26 (1.02) TRAVEL OF EACH JAW

400 (15.75)

120 (4.72)

400 (15.75)

IN COVERPLATE

IN COVERPLATE

TRAVEL IS AVAILABLE
SINGLE STATION
SEAL PLATE

IS LIMITED BY COVERPLATE

Dual Station Single Station



Revised: 06-NOV-06 Document: 800-0266-1106 Page 10 of 10

CHICK WORKHOLDING SOLUTIONS, INC
500 Keystone Drive    Warrendale, PA 15086 USA

Phone: (724) 772-1644    Fax: (724) 772-1633
Toll Free: (800) 33-CHICK    (800) 332-4425

www.ChickWorkholding.com

Notes

CLAMPING FORCE

MQL1040

Torque Force
(ft-lb) (lbs)

15 1,800
25 3,000
35 4,200
40 4,800

0

1000

2000

3000

4000

5000

6000

0 5 10 15 20 25 30 35 40 45 50
Torque (ft-lbs)

C
la

m
pi

ng
 F

or
ce

 (
lb

s)

5 600

Torque Force
(N-m) (N)

20 8,000
30 12,000
40 16,200
50 20,000

0

5000

10,000

15,000

20,000

25,000

30,000

15 20 25 30 35 40 45 50 60 65
Torque (N-m)

C
la

m
pi

ng
 F

or
ce

 (
N

)

10 4,000

0 10

Pounds (lbs) Newtons (N)

Note:    Maximum Recommended Torque.  Actual results may vary. Note:    Maximum Recommended Torque.  Actual results may vary.


